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Date Due:  March 30
+10 if turned in by Friday, 3/20
AP Microeconomics Problem Set #6
Unit 6: Market Failures

Important:  Your answers must be neat and clear.  If I have to act as a CIA code breaker to try to decipher your answers, either because they are written sloppily or written in an unclear manner, you will not get credit for that answer.  Be clear, be concise, be neat.

1. Public Goods
a. Identify and explain the two characteristics of public goods. Give and explain examples. (____/15)

b. Explain why the public sector and not the private sector provides public goods.
 (____/15)

2.  Externalities 
a. (____/30) Assume excessively large SUVs include spillover costs that are not borne by the initial consumer but rather society as a whole. 

i. Explain two negative externalities associated with SUVs. Who pays the external costs?

ii. Use a supply and demand graph to illustrate a negative externality. Identify the current price and output and the socially optimal price and output.

iii. Use MSB and MSC to explain if SUVs are being overproduced or underproduced by the free market. Explain why the free market failed?

iv. Explain what the government must do to fix this negative externality. Draw on a new graph showing this.
b. (____/30) Assume the creation of city parks has spillover benefits that improve society as a whole. 

i. Explain two positive externalities associated with making more parks. Who receives the external benefits?

ii. Use a supply and demand graph to illustrate a positive externality. Identify the current price and output and the socially optimal price and output.

iii. Use MSB and MSC to explain if parks are being overproduced or underproduced by the free market. Explain why the free market failed?

iv. Explain what the government must do to fix the positive externality. Draw on a new graph showing this.

3. Redistribution of Income 
a. Define and give examples of each type of tax: Progressive, Proportional, and Regressive.  (____/10) 
    1. ____/30            


    2. ____/60	


    3. ____/10     


         


Total: _____/100








